g

(1/0) do/d r

Ratio to ATLAS

N

3.5

2.5

1.5

0.5

[EEY

0.5

13000 GeV pp

Jets

Rivet 3.1.10, = 3M events

_| | T I T I T I T I T | T I T I I I |_
n Opening angle rg(ATLAS soft-drop observables) =
~  m ATLAS =
— —&— Pythia 8.308 default B
— Pythia 8.308 tune-1 —
- Pythia 8.308 tune-2c¢ —
B Pythia 8.308 tune-2m _
- A n
- ) 7
- / e " s m .
= H/ = m T\ N A ~
- n g & m\ N I\ -
| \ l[‘ / . ]
B : ‘=. M £ L |
B L \ ; g’ \ il
- \; ‘:,;‘ ’/ \ 1
- \ v/ / / o]
I *.' / \ \/ —
- » | " ° _
- ri —
:IC=/I e e
N . : L ] -
I “‘\ ,/”\"' L3 _'.A : : T —]
A S I 4X-N V. OV

'’ \ Y N Y | N B s

— */- = h/m T | l T
B ‘/“ }/‘ I “ | n
B T |
| " 1 1 1 1 | " 1 1 1 1 | " 1 1 1 1 " |
0 10 20 30
I

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


